Name:

1+4=__  6+2=
242=_  9+40=__
1+1=__  243=__
0+6=__  147=__
248=_ 3+3=
0+49=__  1+40=
5+42=_  8+2=
34+6=__  4+4=
441=__  149=
0+0=__  6+0=
7+0=__  246=
3+0=__  1+2=
7+1=__  445=
14+6=

Das sind alle moéglichen Plusaufgaben von 0 — 10!
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3+1=__
2+0=
8+1=
440=
6+4=
5+4=
8+0=
24+1=
0+7=
3+4=
5+0=
0+2=

3+2=

0+3=__  245=__
7+3=__ 10+0=__
0+5=__  0+10=__
6+3=_  5+5=
O+1=__  145=__
74+2=_  4+2=_
O+1=_  4+3=__
O+4=__  1+48=__
6+1=__  0+8=__
3+45=_  2+47=__
4+6=__  143=__
5+1=_  2+4=_
3+47=__  5+3=__

Zeit:

Fehler:
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